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Paper : GGY-HG-RC-1016

(Physical Geography)

j  (01^^ )
^  1. Select the correct answer : 1x7=7

H (a) Ultraviolet rays of the sun are absorbed
by

(i) stratosphere

Contd.



Oi)

(c)

ionosphere

(Hi) ozonosphere

(iv) exosphere

(b) The temperature of NIFE layer is about

Rc<p

(i) 1000°C
^ooo c^g

fti) 2000°C
^ooo C^g-

2500°C '

^(too C^O

(iv) 3000°C

«)ooo c^g

Doldrum is a belt of

(i) Calm condition of winds with low
pressure

(ii) Unstable condition with high
pressure

^5(1^
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(iii) Thunderstorm with lightning

(iv) None of the above

(d) Chemical weathering is active mainly
in the

ft) glaciated region

(ii) arid region

(iii) karst region

(iu) None of the above

(e) Sedimentary rocks are mainly made up
of weathered reniains of

ci% ^ st«iR^ 'sraPis
(i) basalt

(ii) metamorphic rocks

(iii) humas
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(b)

(c)

m ionosphere

^sitiR'STQcl^

(Hi) ozonosphere

(iv) exosphere

The temperature of NIFE layer is about

Rc<p

C^)

1000°C

^ooo C5§

2000°C

^ooo CEFS

(in) 2500°C '

\(too CPS

(iv) 3000°C

«ooo c^g

Doldrum is a belt of

(i) Calm condition of winds with low
pressure

(u) Unstable condition with high
pressure
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(tti) Thunderstorm with lightning

(iv) None of the above

(d) Chemical weathering is active m^ly
in the

j(i) glaciated region

(ii) arid region

(tti) karst region

(iv) None of the above

(e) Sedimentary rocks are mainly made up
of weathered remains of

c^t%i ^

(i) basalt

mi .

(ii) metamorphic rocks

.  fW m\
(Hi) humas

W
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(f)

(g)

(iv) Igneous rocks

A deep and narrow river valley is called

(i) canyon or gorge

(ii) V-shaped valley

Temperature and precipitation were the m
basic features of climatic classification ̂

as given by
C2£f^R\»t\STr|\o

1%% <pfiRoi
(i) Trewartha

(ii) Thomthwaite

(iiij Kdppen

(iv) None of the above

2x4=82. Write short answer :

(i) What do you mean by monsoon
climate?

W ̂  ?
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(ii) What do you mean by precipitation ?

-^picei ft ?

(Hi) Name different layers of the lithosphere.

^ ft̂ l

(iv) What is ocean current ?

C#5 ̂  ft?

5x3=15

3. Write short notes on: (any three)

^5^ ft«lt % ..

(i) Scope of physical geography

(ii) Hydrological cycle

(Hi) Vertical structure of atmosphere

(iv) Weathering and erosion

4. Answer any three of the following
questions: : 10x3=30

W  % (Rc<PlMt 1^1^)

(i) Describe Koppen's climatic qlassification.

10

CSt^tftSfiSR I '

3 (Sem-l/CBCS) GGY HG/RC/G Contd.



(f)

(g)

{iv) Igneous rocks

A deep and narrow river valley is called
I# If'STR*

(i) canyon or gorge

(ii) V-shaped valley

Temperature and precipitation were the *
basic features of climatic classification

as given by

(i) Trewartha

pi)

(iv)

Thomthwgdte

Koppen

None of the above

2x4=82. Write short answer :

%  ■

(i) What do you mean by monsoon
climate?

1%
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4.

(ii) What do you mesin by precipitation ?

1%

(Hi) Name different layers of the lithosphere.

(iv) What is ocean current ?

c#5 5(0511%?

3. Write short notes on : (any three)

faPi'SH fwt % .,

(i) Scope of physical geography

(U) Hydrological cycle
vsrq&i£l»

(Hi) Vertical structure of atmosphere

(iv) Weathering and erosion
'SIR.

5x3=15

Answer any three of the following
questions: : 10x3=30

^5^ gpSR ̂  Pn«lt %

(i) Describe Koppen's climatic qlassification

10

C2£f^fi^ivST«i I ■
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(ii) Describe the ocean bottom relief
features with diagram. 7+3=10

(in)

(iv)

What do you mean by normal cycle of -
erosion ? Write the land features

developed in different stages of normal
cycle of erosion. 3+7=10 -

Discuss the source and distribution of

monsoon wind. 5+5=10

c%Sl ^ .
^1

3 (Sem- 1/CBCS) GGY HG/RC/G 6

'm

Paper : GGY-HG-1026

(Honours Generic)

(Geography of Tourism)

Full Marks : 60

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7

(a) Who was the first foreigner to visit
India?

^

(i) Hiuen Tsarig

(ii) Megasthenes

(Hi) Fa-Hien
ipt-feH

(iv) . Marco Polo
511^' fffi'

(Choose the correct answer)

(m Swii?/ ̂  Wism)
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